Asymptotic tolerance curve
20 Log( Tol ) [rad] Dot indicates a limit condition
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LEO [rad] = 1.3 wp=w; Vpn/Vp = 3.60E+04 @;= 1.00E+07

+ Oy [rad)= 3.50E-001 average G, w/ actual error signal [dB] = 7.31E+00
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Jitter BW (Oy = .15)=

Horizontal asymptote [dB] = 2.27
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Jitter Transfer , wjc = wn2= vGwz = 1.07E+07
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nor = woaB/(LEO-wpbTp/2) = 2.77E+07

np= VG, = 1.07E+07
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Tracking of a 2 - 2 CDR at the border of the tolerance region

1500 discrete time points, bang-bang PFD DT = 1
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——PLL Input [rad)
—— Error signal [not to scale]
——VCO Output [rad]

—— PFD Output (not o scale)
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